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FINANCIAL MANAGEMENT — GENERAL
Paper : DSE-6.2A
Full Marks : 80

Candidates are required to give their answersin their own words
asfar as practicable.
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21 Sougata borrows from a bank ¥ 1,00,000 at 12% rate of interest to be paid in 5 equal annual instalments

at the end of each year. What will be the size of instalment?

Given (PVIFA)q2, 5y = 3.605 so
9l A sum of ¥ 5,000 is invested for 2 years at 10% interest rate compounded biannually. Find the maturity

amount. so
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@| The following data relate to a firm:

(¥) Earnings per share = ¥ 25

(¥) Capitalisation rate = 12%

(s1) Retention ratio = 40%

Determine the share price using Gordon’s Model if IRR is 15%. So
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a1 A firm has sales of I 5,00,000, variable cost of I 3,50,000 and fixed cost of I 1,00,000 and debt of

< 2,50,000 at 10% rate of interest. You are required to calculate operating and financial leverages of the
company. If the firm wants to double its EBIT, how much of arise in sales would be needed on a percentage
basis? Q+9©
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RIL Ltd. opts for the following capital structure:

Equity Shares (100000 shares) < 50,00,000
15% Debentures < 50,00,000
Total < 100,00,000

The company is expected to declare a dividend of ¥ 5 per share. The market price per share is I 50. The
dividend is expected to grow at 10%.

Compute Weighted Average Cost of Capital of RIL Ltd. assuming 50% tax rate. R0

From the following information prepare a statement showing the estimated working capital requirement.
Projected annual sales: 26000 units. Selling price per unit I 60

Analysis of selling price:

Material: 40%, Labour: 30%, Overhead: 20%, Profit: 10%

Time lag (on average):

Raw materials in stock — 3 weeks. Production process — 4 weeks. Credit to debtors — 5 weeks

Credit from suppliers— 3 weeks. Lag in payment of wages and overheads — 2 weeks. Finished goods are

in a warehouse — 2 weeks.

Cash in hand is expected to be 10% of the net working capital. R0
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(F) Compute the pay-back period for the project :

End of the year 1 2 3 4 5
Book Value of 90 80 70 60 50
fixed assets ()

Profit after tax 20 22 24 26 28
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The figuresin the margin indicate full marks.
Group-A

Answer any four questions.

Explain the functions of chief financial officer or manager in the modern business environment. 10

Sougata borrows from a bank ¥ 1,00,000 at 12% rate of interest to be paid in 5 equal annual instalments
at the end of each year. What will be the size of instalment?
Given (PVIFA)q2, 5y = 3.605 10

A sum of ¥ 5,000 is invested for 2 years at 10% interest rate compounded biannually. Find the maturity
amount. 10

(a) What do you mean by Capital Budgeting?
(b) What do you mean by discounted pay-back period method? 5+5

The following data relate to a firm:
(i) Earnings per share = ¥ 25
(i) Capitalisation rate = 12%
(iii) Retention ratio = 40%
Determine the share price using Gordon’s Model if IRR is 15%. 10

Discuss the features of optimum capital structure. 10

A firm has sales of ¥ 5,00,000, variable cost of I 3,50,000 and fixed cost of ¥ 1,00,000 and debt of
< 2,50,000 at 10% rate of interest. You are required to calculate operating and financial leverages of the
company. If the firm wants to double its EBIT, how much of arise in sales would be needed on a percentage
basis? 743

Discuss the role of debenture in company financing. 10

Group-B

Answer any two questions.

RIL Ltd. opts for the following capital structure:

Equity Shares (100000 shares) < 50,00,000
15% Debentures < 50,00,000
Total < 100,00,000

The company is expected to declare a dividend of ¥ 5 per share. The market price per share is I 50. The
dividend is expected to grow at 10%.
Compute Weighted Average Cost of Capital of RIL Ltd. assuming 50% tax rate. 20
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From the following information prepare a statement showing the estimated working capital requirement.
Projected annual sales: 26000 units. Selling price per unit I 60

Analysis of selling price:

Material: 40%, Labour: 30%, Overhead: 20%, Profit: 10%

Time lag (on average):

Raw materials in stock — 3 weeks. Production process — 4 weeks. Credit to debtors — 5 weeks

Credit from suppliers— 3 weeks. Lag in payment of wages and overheads — 2 weeks. Finished goods are

in a warehouse — 2 weeks.

Cash in hand is expected to be 10% of the net working capital. 20

(a) What do you mean by internal rate of return? Discuss its accept and reject rule.

(b) Write short note on: Dividend Policy and Retained Earnings. 10+10

(a) Compute the pay-back period for the project :

End of the year 1 2 3 4 5
Book Value of 90 80 70 60 50
fixed assets ()

Profit after tax 20 22 24 26 28

(b) What do you mean by Profitability Index? 15+5



